TFY4240 Solution problem set 5



Problem 1. See handwritten solution further back.

Problem 2.

See Griffiths.

Problem 3.

a) The magnetic field from a line element dl' is given by Biot-Savart's law,

$$d\boldsymbol{B} = \frac{\mu_0 I}{4\pi} \frac{d\boldsymbol{l}' \times \hat{\boldsymbol{R}}}{R^2} \tag{1}$$

where dl' points along the wire, in the direction of the current, and R = r - r'. At position O (the origin), r = 0, so R = -r', giving (using $a \times b = -b \times a$)

$$d\boldsymbol{B} = \frac{\mu_0 I}{4\pi} \frac{\hat{\boldsymbol{r}}' \times d\boldsymbol{l}'}{r'^2}.$$
(2)

There is no contribution to the magnetic field from the straight parts of the wire, since the line elements $d\mathbf{l}'$ along those parts are parallel to $\hat{\mathbf{r}}'$, so $\hat{\mathbf{r}}' \times d\mathbf{l}' = 0$. Thus the only contribution comes from the semicircle. There $\hat{\mathbf{r}}' \times d\mathbf{l}'$ points into the paper plane, so therefore the magnetic field does too. Using also that along the semicircle (i) $d\mathbf{l}'$ is perpendicular to $\hat{\mathbf{r}}'$, so $|\hat{\mathbf{r}}' \times d\mathbf{l}'| = d\mathbf{l}'$, (ii) $\mathbf{r}' = R$, the magnitude of the field becomes (the integral goes over the semicircle only)

$$B = \int dB = \frac{\mu_0 I}{4\pi R^2} \underbrace{\int dl'}_{\pi R} = \frac{\mu_0 I}{4R}$$
(3)

since $\int dl'$ is just the semicircle length. As already noted, **B** points into the paper plane.

b)

$$|\mathbf{B}| = \frac{\mu_0 I}{4R} = 4\pi \cdot 10^{-7} \text{ N/A}^2 \cdot \frac{1}{4} \cdot 10^2 \text{ A/m} \approx 3 \cdot 10^{-5} \text{ T.}$$
(4)

Problem 4.

See handwritten solution further back.

Problem 5.

See handwritten solution further back.

Problem 1 Poisson equation :
$$\nabla^2 V = -\frac{g_1(r)}{e_m}$$

TEO 1²
(i) Voisson equation : $\nabla^2 V = -\frac{g_1(r)}{e_m}$
(i) Voisson equation (here: $e_m = e$ inside, $e_m = e_0$ outside)
(i) Voisson (here: $e_m = e$ inside, $e_m = e_0$ outside)
(i) Voisson equation at $r = R$:
(i) Voisson = Vinside
(2) Eonisste In Voiside - Einste In Vinnite = $-\sigma_f$
In this problem there is no free charge = $g_f, \sigma_f = e$
) duis problem there is no free charge = $g_f, \sigma_f = e$
) Both inside and outside the sphere the Poisson equation
 $\nabla^2 V = 0$
out $Bc(2)$ reduces to $e_0 \partial_r V_{outside} = e \partial_r V_{invole}$
Let $E_0 = E_0^2$ and let the Z axis pass through the
center of the sphere. The problem has azimuthal
symmetry, so the solution of the Laplace eq.
(an be expanded as
 $V(r; B) = \sum_{i=0}^{\infty} (A_i r t + \frac{B_k}{rt+1}) P_g(cost)$ (*)
(with different expansions incide and outside the sphere,
E must approach the applied field E_0 :
 $E outside = -\nabla V_otside = E_0^2$ as $r \to \infty$

=> Voutside (1,0) -> - Eoz+C as r>00 We pick the constant C = 0 so that in the absence of Eq. the boundary condition reduces to $V \rightarrow 0$ As $Z = r \cos \theta$, the boundary condition thus becomes $V_{outside}(r, \theta) \rightarrow - E_{\rho} r \cos \theta \qquad on r \rightarrow on$ Comparing this with (x) it follows that $\begin{array}{rcl}
 & (outside) \\
 & A_{1} &= -E_{0} \\
 & (outside) &= 0 \quad \text{for } l \neq 1 \\
 & A_{L} &= 0 \quad \text{for } l \neq 1
\end{array}$ Since the terms of Browtside) all go to 0 as r-700, we do not get any conditions on these B-aefficients from this BC. Thus Woutside reduces to $V_{\text{outside}}(r,\theta) = -E_0 r \cos\theta + \sum_{l=0}^{\infty} \frac{B_l^{(\text{outside})}}{rl+1} P_l(\cos\theta)$ For Vinside (r,0), Be must be 0 for all l to prevent Vinside from diverging as r > D. Thus Vinside reduces to $V_{ivide}(r_{1}\theta) = \sum_{l=0}^{\infty} A_{l}^{(iv_{s}de)} r^{l} P_{l}(cos\theta)$ Now I revame A (inside) = AL, BL = BL BC(1) gives $-E_{\theta}R\cos\theta + \sum_{l=0}^{\infty} \frac{B_{L}}{R^{l+1}} P_{\ell}(\cos\theta) = \sum_{l=0}^{\infty} A_{\ell}R^{l}P_{\ell}(\cos\theta)$

Equating coefficients of
$$P_{L}$$
 for each L gives
(note that $\cos \theta = P_{1}(\cos \theta)$)
 $k=1: -E_{0}R + \frac{B_{1}}{R^{2}} = A_{1}R \Rightarrow B_{2} = R^{2L+A}A_{k}$
 $k \neq 1: \frac{B_{L}}{R^{2L+A}} = A_{L}R^{L} \Rightarrow B_{2} = R^{2L+A}A_{k}$
Next vie consider $B(2)$. We have
 $\partial_{r} V_{outuale}(r,\theta) = -E_{0}\cos\theta + \sum_{k=0}^{\infty} (-1)(l+1)\frac{B_{k}}{r^{1+2}}P_{2}(\cos\theta)$
 $\partial_{r} V_{insik}(r,\theta) = \sum_{k=0}^{\infty} LA_{k}r^{k-1}P_{1}(\cos\theta)$
Thus $B(2)$ becomes
 $E_{0}\left[-E_{0}P_{1}(\cos\theta) - \sum_{k=0}^{\infty} (l+1)\frac{B_{2}}{R^{2}}P_{k}(\cos\theta)\right]$
 $= e\sum_{k=0}^{\infty} LA_{k}R^{k-1}P_{1}(\cos\theta)$
Equating $\cos \theta$ placemes
 $l=1: e_{0}\left[-E_{0} - \frac{2B_{1}}{R^{3}}\right] = eA_{1}$
 $l \neq 1: -E_{0}(l+1)\frac{B_{k}}{R^{k+2}} = eLA_{k}R^{k-1}$
Susching the relation between B_{1} and A_{2} obtained from $B(A)$ gives
 $l=1: e_{0}\left[-E_{0} - \frac{2}{R^{3}}R^{3}(A_{4}+E_{0})\right] = 6A_{1}$
 $2: e_{0}\left[-2A_{4} - 3E_{0}\right] = eA_{2} \Rightarrow A_{4} = -\frac{3e_{0}}{2e_{0}+e}E_{0} = -\frac{3}{R+4}E_{0}$

$$=) B_{4} = R^{3} \left[-\frac{3}{2+\kappa} + 1 \right] E_{0} = \frac{\kappa-1}{\kappa+2} E_{0} R^{3} \\ = R^{3} \left[-\frac{3}{2+\kappa} + 1 \right] E_{0} = \frac{\kappa-1}{\kappa+2} E_{0} R^{3} \\ = R^{3} \left[-\frac{3}{2+\kappa} + 1 \right] E_{0} = \frac{\kappa-1}{\kappa+2} E_{0} R^{3} \frac{1}{r^{2}} \cos\theta \\ = R^{3} \left[\frac{1}{\kappa+2} - A_{0} = \varepsilon L A_{0} R^{d-1} \right] A_{0} = 0 = B_{0} = 0 \\ = R^{3} \left[\frac{1}{\kappa+2} - A_{0} = \varepsilon L A_{0} R^{d-1} \right] A_{0} = 0 = B_{0} = 0 \\ = R^{3} \left[\frac{1}{\kappa+2} - A_{0} = \varepsilon L A_{0} R^{d-1} \right] A_{0} = 0 = B_{0} = 0 \\ = R^{3} \left[\frac{1}{\kappa+2} - A_{0} = \varepsilon L A_{0} R^{d-1} \right] A_{0} = 0 = B_{0} = 0 \\ = R^{3} \left[\frac{1}{\kappa+2} - A_{0} = \varepsilon L A_{0} R^{d-1} \right] A_{0} = 0 = B_{0} = 0 \\ = R^{3} \left[\frac{1}{\kappa+2} - \frac{1}{\kappa+2} -$$

Problem 4 i al ma Consider a circle of radius r about the cylinder axis. B nill have the same magnitude at all points on the circle and be oriented tangentially to the circle with a direction given by a right-hand rule: Because of the symmetry it is useful to apply Asupere's law on integral form, picking the Amperian loop C to coincide with the circumference of the Circle of mains r: § B·dR = μο Jenclosed =) B·2πr = μο Iencl =) B = Mo Tend 2TTr $r < a \Rightarrow T_{encl} = 0 \Rightarrow B = 0$ (a)____ $r > a \Rightarrow T_{end} = T \Rightarrow B = \frac{\mu_0 T}{2\pi r}$ (b) j=ks fr some constant k The value of k can be found from the condition that the total current is known to be I $=7 \quad I = \int j da = \int d\varphi \int ds s \, \bar{j} = k \cdot 2\pi \int ds \, s^{2}$ $a \qquad 0 \quad 0$ $= 2\pi k \perp a^{3} \Rightarrow k = \frac{3\pi}{2\pi a^{3}}$

For r < a, 21 $\int d\varphi \int ds s ks = 2\pi \frac{3I}{2\pi a^3} \frac{1}{3}r^3 = I\left(\frac{r}{a}\right)$ 5 $B = \frac{\mu_0 \text{ Iend}}{2\pi r} = \frac{\mu_0 \text{ I} r^2}{2\pi r^3}$ 3 For r'> a [Tend = T =) B = Mo I Problem 5 $\vec{B}(\vec{r}) = \frac{\mu_0}{4\pi} \int d^3r' \frac{j(\vec{r}') \times R}{\rho^2}$ $\left(\overrightarrow{R} = \overrightarrow{r} - \overrightarrow{r}' \right)$ r (as always) Note: V acts on $(\alpha) \nabla \cdot \vec{B}(\vec{r}) = \frac{M_0}{4\pi} \nabla \cdot \int d^3r' \frac{\vec{J}(\vec{r}') \times \hat{R}}{R^2}$ $= \frac{\mu_0}{4\pi} \int d^3 r' \nabla \cdot \left(\frac{1}{j} \left(\vec{r}' \right) \times \frac{\hat{R}}{\rho^2} \right)$ $\nabla \cdot (\vec{A} \times \vec{B}) = \vec{B} \cdot (\nabla \times \vec{A}) - \vec{A} \cdot (\nabla \times \vec{B}) (in Griffiths)$ Vse $\nabla \cdot \left(\vec{j} \left(\vec{r}' \right) \times \frac{\hat{R}}{R^2} \right) = \frac{\hat{R}}{R^2} \cdot \left(\nabla \times \vec{j} \left(\vec{r}' \right) \right) - \vec{j} \left(\vec{r}' \right) \cdot \left(\nabla \times \frac{\hat{R}}{R^2} \right)$ 3 = 0 since j is a function = 0 (we showed this in Problem of r, not r 3 in Jutonial 2) $\Rightarrow \nabla \cdot \overline{B}(\overline{r}) = 0$

(b)
$$\nabla \times \vec{g}(\vec{r}) = \frac{\mu_0}{4\pi} \int d^3 r' \nabla \times (\vec{j}(\vec{r}') \times \frac{\vec{R}}{R^2})$$

The curl inside the integral takes the form
 $\nabla \times (\vec{a} \times \vec{b})$ with $\vec{a} = \vec{j}(\vec{r}')$ and $\vec{b} = \frac{\vec{R}}{R^2}$
We use the identity (identity (8) in Griffiths)
 $\nabla \times (\vec{a} \times \vec{b}) = (\vec{b} \cdot \vec{v})\vec{a} - (\vec{a} \cdot \vec{v})\vec{b} + \vec{a}(\vec{v} \cdot \vec{b}) - \vec{b}(\vec{v} \cdot \vec{a})$
The fact that $\vec{a} = \vec{j}(\vec{r}')$ dres not depend on \vec{r} implies
the fact that $\vec{a} = \vec{j}(\vec{r}') \cdot \vec{v} \cdot \vec{k} = \vec{r} \cdot \vec{k} = \vec{r} \cdot \vec{k} \cdot \vec{k}$
 $\nabla \times (\vec{j}(\vec{r}') \times \frac{\vec{R}}{R^2}) = -(\vec{j}(\vec{r}') \cdot \vec{v}) \cdot \vec{k} = +\vec{j}(\vec{r}') \cdot (\vec{v} \cdot \frac{\vec{R}}{R^2})$ (*)
Consider the first term on the rhs:
 $-(\vec{j} \cdot \vec{v}) \cdot \frac{\vec{R}}{R^2} = -\vec{j} \cdot \vec{\partial} \cdot \vec{k} = \vec{l} \cdot \vec{k} \cdot \vec{k} \cdot \vec{k} \cdot \vec{k} \cdot \vec{k}$
where $\vec{\partial}_1' = \vec{\partial} \cdot \vec{r} \cdot \vec{k} \cdot \vec{l} \cdot \vec{v} \cdot \vec{k} \cdot \vec{k} = \vec{l} \cdot \vec{k} \cdot \vec{k$

 $\frac{j}{j}; \frac{\partial}{\partial i} \frac{R}{R^2} = \left(\frac{-j}{j} \cdot \nabla'\right) \frac{R}{R^2} = \left(\frac{-j}{j} \cdot \nabla'\right) \frac{R}{R^3}$ Consider the kith component: $(\overline{j} \cdot \overline{D'}) \frac{R_k}{R^3}$ Use the identity (identity (5) in Griffiths) $\nabla \cdot (f\vec{a}) = f p \cdot \vec{a} - \vec{a} \cdot \nabla f$ $\Rightarrow \vec{a} \cdot \nabla f = f \nabla \cdot \vec{a} - \nabla \cdot (f \vec{a})$ Take $\vec{a} = \vec{j}$, $\vec{f} = \frac{R_k}{R^3}$, $\nabla \rightarrow \nabla'$ to get $\overline{j} \cdot \nabla' \frac{R_{\mu}}{R^{3}} = \frac{R_{\nu}}{R^{3}} \frac{\nabla' \cdot \overline{j}(\overline{r}') - \nabla' \cdot \left(\frac{R_{\mu}}{R^{3}} \frac{1}{j}\right) = -\nabla' \cdot \left(\frac{R_{\mu}}{R^{3}} \frac{1}{j}\right) (***)$ where we used the steady-unat condition $\nabla' \cdot \overline{j}(\overline{r}') = 0$ valid for static problems. Now put (***) back into the integral. This integral can be done using the divergence theorem. This gives (ometing constant factors) $\int d^{3}r' \, \mathcal{D}' \left(\frac{\mathcal{R}_{\mu}}{\mathcal{R}^{3}} \, \overline{j}(\overline{r}') \right) = \int d\overline{a}' \left(\frac{\mathcal{R}_{\mu}}{\mathcal{R}^{3}} \, \overline{j}(\overline{r}') \right) = 0$ The volume julegral is over all space (or at least over any region big enough to completely contain the current in its interior; we assume a localized current distribution). Therefore $j(\overline{r}') = 0$ in the surface integral, which therefore vanishes. It remains to consider the 2nd lens on the rhs of (*). Pulling it back in the integral gives $\nabla \times \vec{B}(\vec{r}) = \frac{\mu_0}{4\pi} \int d^3 r' \vec{j}(\vec{r}') \left(\nabla \cdot \frac{R}{R^2}\right) = \mu_0 \vec{j}(\vec{r}) \quad (phew!)$ $= 4\pi \delta(\vec{R})$